H & 0l & AHS B Ml A

20243 =0llah LB S AIEH

S£A: SAIZEHID

I ol 2el
el Stk dHl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CAIEBI 7,728,386 3,090,426 4,637,960
ot== 2l 2,194,960 1,696,920 498,040
ot== ZFH| 2,194,960 1,696,920 498,040
otk E= 393,500 301,600 91,900
206 M=l 43,500 43,600 A100
01 M=4l 43,500 43,600 A100
Odt==AlE EHl A+ 43,500
- Of=2t 350, 000& »60= 21,000
HE £ 300, 000& x40 12,000
CAIME, 22 S(ZXHH)
5,500,000& 5,500
Qe BIH SAIH
5,000,000 5,000
401 Al HIZL 201 360,000 258,000 92,000
01 Al&H| 350,000 258,000 92,000
Odt= a2 SAH
280,000,000 280,000
OALBA MaHUL JISXE B
200,000 #2521 *43] 20,000
O2U H=5FZ JUISA
1,000,000 *507H 50,000
ot =& 376,460 275,320 101,140
201 er23 | 25,560 28,420 22,860
01 At2teltl 18,690 22,690 24,000
OF&ES Il ARH(SED| )
500,000 * 162 8,000
O ot=2t2 XA} CCTV 2L
10,000,000 10,000
OBl+ZAIBE AL YBSIIEE +E
X 3,0002/+3021 %
OFMEANR SHZRI2 AH0IE
600,000 600
02 S3=gHl 6.870 5,730 1,140
Odl= =48 JUHE AIS
50,000 =20 * 122 1,200
OLE 888= 2,490
|2 (X&) 2,500+ 122 30
+EE(RHHED) 70,0002 +68 420
HE By Sz € &=
30,000 * 1O A+ 123 360
-CHH& SO E 212 ot=Ald Sdlg &
= 120,000& « 12& 1,440
A2 (WA DRE)
20,0003 x 122 240
OB RAAME =& & H)IE3 R 3,180
C=E2 170,000 +6E 1,020




A ZAIEHI D
M slag 22
el Stk dHl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HIlg 180,000& «12& 2,160
203 HE=H| 900 900
03 A= LR F&IH| 900 900
Odte2te] =2 =M
1,000, 0002 *90% 900
401 AIEHIZ SR OHYI 350,000 246,000 104,000
01 Al&HI 360,000 246,000 104,000
Ot st JIAHEL 350,000
A =4 200,000,000 200,000
- =4&E X 150,000,000 150,000
ot =Al2c 5,000 5,000
305 =S 5,000 5,000
01 Hie=S 5,000 5,000
Odt=T RAl2tc| Zolbhet
5,000,000& 5,000
Sli=cld=dE 23 ole=22 ALY 250,000 250,000
401 Al HIZL 201 250,000 250,000
01 Al&H| 250,000 250,000
OSl+cl=HE &3 of-22 SAI 250,000
CHEEHITHE A 50,000,000& 50,000
Gh==2+(D400mm) & X 200,000,000 200,000
LSo+=22 ZHIAKG (3-1E2H) 400,000 0 400,000
401 AIEHIZ SR OHYI 400,000 400,000
01 Al&HI 400,000 400,000
Ok=ot=22 FH| 400,000,000 400,000
ANE" 1-28 S)i7L=2 HHNEHES 40,000 40,000
401 Al HIZL 2048 40,000 40,000
01 Al&H| 40,000 40,000
OAISY 1-25 SHTEE QEBASY
40,000,000& 40,000
TES 7Yl &2 ot=2Z 0lESA 300,000 300,000
401 Al HIZ S OHbI 300,000 300,000
01 AlZ2H| 300,000 300,000
OAtZHI 300,000
- 170,000,000 170,000
J|E ote2tH A 100,000,000& 100,000
el ==&l A2 30,000,000& 30,000
Aot 2t =2 ==Xl A2 EESA 100,000 100,000
401 Al HIZ S 0HbI 100,000 100,000
01 AlZ2H| 100,000 100,000
OAtol= 21l =2 X E=AIE 53
At 100,000
- HEi=AlE 100,000,000 100,000




A ZAIEHI D
B ghag 22
&2l ot=& FHdl (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2t St==7 OH==Ar 270,000 270,000
401 Al HIZL 201 270,000 270,000
01 Al&HI 270,000 270,000
O2tU ot=== = SAH
400, 0002 *675m 270,000
20243 ot=2Z SLEIMNEZEY 40,000 40,000
401 AlZHIZ SO 40,000 40,000
01 A28l 40,000 40,000
Q20248 ot+=2Z FAXAEHES
40,000,000 40,000
YA SEMLLYUER DX 20,000 0 20,000
401 AIZHIZL SO 20,000 20,000
01 Al&H| 20,000 20,000
OLEH SELALMIX EXI(LAHI)
20,000,000& 20,000
CAIEHI 4,933,357 815,357 4,118,000
SADIEHAIE &5 4,933,357 815,357 4,118,000
CAHEZE 9,357 15,357 26,000
201 2egh=3| 8,457 14,457 26,000
01 At2t2lt] 8,457 14,457 26,000
OZAAHEANEZSE & - 51
3,000,000 *23 6,000
Oxelt 223 2,457,000& 2,457
203 =8| 900 900
03 A= PR FZ| 900 900
OEADNE =2 =X
1,000,000 *90% 900
deEis=X 0SH |2 35,000 70,000 /35,000
401 Al HIZL 201 35,000 70,000 /35,000
01 Al&H| 35,000 70,000 /35,000
O¥ER=A =8 sA2L
35,000,000& 35,000
Cli o= di+=d S RAl2cl 35,000 30,000 5,000
401 AlEHIKL =] 35,000 30,000 5,000
01 A28l 35,000 30,000 5,000
Ot Eo+==& oi+d S FAl2el
20,000,000 20,000
Onfighatdiz U3 SHE2 S FAl2dl
15,000,000 15,000
CHOHZZGHOE SEXI7 HEHI (28 H) A 0TS 2,830,000 0 2,830,000
&
201 eer23| 330,000 330,000
01 AtR2t2|HI 330,000 330,000
OZEYEI} === 330,000,000 330,000




2M: SAIFHID
M CAIE
S DADIEAIE =E (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 2,500,000 2,500,000
01 Al&H| 2,500,000 2,500,000
OoogeEaZa=s 2,500,000,000& 2,500,000
OUE S5 dl+==8 SN SEAY 2,024,000 2,024,000
401 AIZHIX S0 2,024,000 2,024,000
01 AlZH| 2,024,000 2,024,000
OUUE S= oS ML SF5(2H
2 &AHI) 2,024,000,000& 2,024,000
= ZNEE 88,861 86,651 2,210
2= 2 88,861 86,651 2,210
== 2el 15,617 17,857 A2,240
201 er2 3| 16,167 17,407 N2,240
01 AtR2t2|HI 870 3,110 A2,240
OEZ237Zt AIZE 21t 270
OCRXIA HI= 70,0003 %38 A 210
SEE LS IESILIb
3,000& 2021 60
OZN=HA MZ 100& *1,50001 45 600
02 S3=gHl 14,297 14,297 0
OU-=2dl= SEaAcANAY A2+
500,000& * 128 6,000
oRE= 8,297
=2 2,530 *900S 2,217
Sl 4303%14,000S 6,020
203 HF=AH] 450 450
03 A= PR F&| 450 450
Osgi=s g2y 500, 000 *90% 450
SEZ= ZH| 73,244 68,794 4,450
101 eI24d| 51,298 50,059 1,239
M ORNZZ2NSE S 51,298 50,059 1,239
O=sgZ = &l 51,298
kal:] 88,2722 x3B 28U +6E 44,490
ELEEEEEIE
44,490,000& *4. 5% 2,003
- IEEERES 44,490,000 %1.75% 779
- MIHEERES 44,490,000 * 1% 445
- RUALLEHRES
44,490,000& *3.545% 1,578
LRSS FES
1,578,000 %12.81% 203
SXEE 300,000 *3& 900
SEFOHI 300,000& 3 900
201 Ler23| 4,200 4,200 0




A ZAIEHI D
Zu: BNS BNHY
ol Z0E 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 4,200 4,200 0
OBLZISI QS22 HN
15023 +2,0000H+25 600
Ooxelt 223 2,000,000 2,000
Osgdil=s JHIES 1,600,000 1,600
301 2eEN= 17,746 14,535 3,211
0 AR=SR224= 17,746 14,535 3,211
OZsael 2 17,746
==} 1,250,000 x1&* 122 15,000
- SA 7,0003x1E 2 * 122 1,848
- WEHI 3,400 x 122« 123 898
HY2AIHI(SAIFEHID) 511,208 491,498 19,710
el 2| 451,038 431,328 19,710
el =gl 451,038 431,328 19,710
101 @124H| 448,343 428,633 19,710
03 BRA(RIH )22 U2+ 448,343 418,950 29,393
Odt=k =4SA2 438,317
JlEs 3,769,030 «7 &+ 128 316,599
&g 180,000 7 =123 156,120
- EBEFOH 3,769, 030 7 & 22| 4% 21,107
- ASAH| 140,000 7+ 122 11,760
]
20,5723 7 B *4 A 2H522 % 150% 44,930
Axt=asiteg
20,572« 7 H+BA|2H+25& 28,801
OSRH(DIAAH) 224 gz
3,769,030 72 *38% 10,026
201 fer= 3| 2,695 2,695
01 AtR2tc|HI 2,695 2,695
OS3RH(RIIH )22 L=l 1,715
ags 50,0003 +7& 350
- Yet= 130,000 74 910
L2 25,0003 +74 175
=235 40,0002 +7& 280
OSRA(RINHN) 22X AL BHXZ
60,0002 74 420
OSRH(RIIAH )22 Mol &2 «
S2=7 N8 24 8,0002/x72+102 560
Jl= 2| 60, 170 60,170 0
Jl= 2] 60, 170 60, 170 0
201 Zer2 ] 16,070 16.070 0
01 AtR2t2|HI 16,070 16,070 0
ORAMEg+=S4l 7,776,000& 7,776




SAM: ZAIEHI
I HYSHZHI(ZAIZHID
Chel: J1=2 &l EEREE
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OJ|2gR+d=gl 8,294,000& 8,294
202 0idl 40,320 40,320
01 =LHO4b| 40,320 40,320
OJl= L3Ol
280,000 x24 B +6H 40,320
203 AR F=&lY| 3,780 3,780
M PA2HHRFAY| 3,780 3,780
ORN2ILRFA| 4,200,000 x90% 3,780




